
2 True/False

1. Review the True/False questions from practice midterms 1—3 and mi(lterlns
1-3.

2. A polar coordinate function can fail the vertical mw test and still be a
function.

3. The origin in polar coordinates couki be defined as I he ordered pair
(0. 2ir — 3) in polar coordinates.
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4. A polar coordmate function can have vertical tangent lines.

5. There are infinitely man ways to write the same coordinate location
in polar coordinates.
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14. For the polar coordinate equation of a liinaeon r = 1 — 2 sin 0
sketch t he graph of the equat ion.

Theii find the UCI enclosed by the graph.

Finally find I lie slope of the line tangent to the graph at 0
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